How to do the reach 100
· First you have to get a grid of 4 boxes

· Next add 4 different numbers in the boxes from 1 to 9

· Then add the vertical numbers together then add the horizontal numbers together  For example:12+43 and 14+23 ↓

	1
	4

	2
	3


· Then add the vertical total and the horizontal total and add it together

· Then calculate if it add ups to 100

· If it doesn’t make a 100 that means you”ve done one equation of reach 100.If you haven’t done it you will have to follow the following steps
· First you will have to calculate and find out what you get by adding the numbers on the top (which makes 92)

· Then you will have to do 100−92 which makes 8

· After that you will have to make the number bigger.to help look at the grid below↓

· Every time you make the first box higher you add 10 to your total.

· Every time you make the second box higher you add 11 to your total.

· Every time you make the third box higher you also add11 to your total.

	2
	1

	3
	8


· Every time you make the fourth box higher you add 2 to your total.

since I need to make it higher by 8  I would add 4 to the number in the box overhead and write it in the box and leave the other numbers alone.
	1
	4

	2
	7


IF YOU HAVE GOT A 100 YOU’VE DONE IT


Other solutions
	2
	3

	1
	8


	1
	2

	4
	7


	1
	2

	4
	7
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